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Three Addends (2 Digit)

Name:

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

40+ 12 +88=

53+ 16+ 18=

47+50+95=

82+64+94=

80+55+21=

7T+71+61=

63+ 17+35=

24+ 94 + 41 =

69+26+15=

28+32+18=

71+52+88=

83+18+82=

82+26+92=

85+30+29=

Answers

10.

11.

12.

13.

14.
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E:L Three Addends (2 Digit) Name _Answer Key

Solve each of the problems. Answers
1) 40+ 12+88= 140
1 140
2) 53+16+18= 87 ) 87
3 192
3) 47+50+95= 192
4 240
4) 82+64+94: 240 5 156
5 80+55+21= 156 6. 209
7 115
6) 77+71+61= 209 159
- 8.
) 63+17+35= 115 9. 110
10. 78
8) 24+94+41= 159
11, 211
9 69+26+15= 110 12 183
13, 200
10) 28+32+18= 78
14, 144
11) 71+52+88= 211
12) 83+18+82= 183
13) 82+26+92= 200
14) 85+30+29= 144
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al-m

Three Addends (2 Digit)

Name:

Solve each of the problems.

Answers

[[

140
156

115
78

87
192

159
209

110
1.
240

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

40+ 12+ 88 =

53+16+18=

47+50+95=

82 + 64+ 94 =

80+55+21=

77/+71+61=

63+17+35=

24+94+41 =

69+26+15=

28+32+18=

10.

M odified
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